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Time : Three Hours - _ : . ' Maximum : 100 Marks

Answer ALL questions.
PART - A (10 X 2 = 20 Marks)

* &

1. Differentiate Adhoc'Network and Cellular Network.
o - S A

2. . What is scalability ? ' | S s

3. Why Contention based Protocol is not-suitabjle for real-_tjme traffic ? |

4. Differcitiate [EEE 802.11 Std and HII;ERIjAN.

5. What' are the advantages and disadvantages of LAR -Protf)éol ? |

6. Why Proactive routing Protécols are not lsuitablle forfhighAmobilit"yt networks ?/

7. Why TCP does not perfoqn well in Adhoc networks ?

8.  Define Wormhole Attack. ) |

9. Wh;ﬁ is.thev-nee\d. fo% crossllayer design? » | . .

10.  Define Eavesdropping.
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“ : PART B(5><16 80 Marks)

e -y

(i) Describe the cllaractenistics of the Wireless Channel. - (11)

(i) Brief about the applications.of Adhoc Network.' )
. gg ?«%i«&: %QR €$ 2 3

What is mesh Network ? Describe how lt"Wlll operate in res1dent1al area. - (16)

~
S

(i) Discuss about the- 1Ssues in des1gn1ng a MAC Jayer Protocol for Adhoc

Networks. o, o B 8)
.(ii) How the packets are trinsro}tted in MACA Protocol and how the collision
is avoided 7. Explaln S , ®
et ' OR o ~
3) - lbescribe how the table updafe'ineghanism'is implemented in distributed priority’
scheduling. ‘ ‘ : S ‘ (16)
oo e T : _ , : _ _ .

(i) How the forwarding zone and Expected zone improves the performance of

LAR protocol ? Describe it. - : o (8)
(ii) D_escribe the hidden end Exposed Terminal Problem. | _ ()]
. . OR | L |
LlSt out the clasmﬁcatmns of Application independent Multicast protocol and

explain the MZRP. . > (6

Describe the operations of | Split TCP Protocol and its” advantages and

- - disadvantages. x. (16)
o OR :
(b gi) Give brief descnptlon about the Network layer attacks. | | ' (8)
| }(i.jl) Transport layer attacks ‘ )
(iii) Application layer attacks ' S @
Describe how the Adhoc Network i's) iﬁtegrated with mobile IP Network. ; (16) |
o ~ OR < ;
What are the limitations of 2G and 3G network ? How Adhoc network can be
1ntegrated with 4G environment ? Explam it. - : : (16)
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